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Topic:- Grad_Nutrition and Health

1) Which of the following are the dietary goals for population at large?/ sﬂﬁ

q P, ATUP FT e 3q BRI 784 82

1. All of the above/B’q?jEH ekt

2. Prevention of deficiency diseases and disorders/ W@Tﬁ 3R fABRI Bt AUy
3. Optimal performance and maintain IBW/ 3UgdddH U= duT IBW ST G-

4. Maintenance of positive health/ SHRIHA®D IARY HIIH 1G]

Correct Answer :-

« All of the above/3Iudad Tt

2) Intranatal care begins with the onset of: /UAa®HTeN- ¢EHTH & T H 370 §
T 9T 22

1. Labor and after delivery which include the examination of mother and baby/ Yg Udd
IRT B & TG SRF BIcht & 3R THd & 91G b dedl ¢ forad J1aT 3R Rg] o1 S e
RUIEGE

2. During last trimester of pregnancy/ dg THTaRT ot 3ff<H farTel & SRE P ot §
3. Both of the above/ RERCSRAR]]
4. During second trimester of pregnancy/ U8 THIGRI &1 gERI faHATE! & TR 1 STl &

Correct Answer :-

« Labor and after delivery which include the examination of mother and baby/ g Udd
IRTY B & TG SRF BIcht § IR TUd & 91 b dekdt ¢ fored J1aT 3R RR] &1 S e
M §



3) Hepatitis B is caused due to:/ %‘ﬁ?l%ﬁ'\‘r B & BRI ﬁ?ﬂ %:
1. Feacal contamination/ Hel ¥V
2. Contaminated water/ Sdl 9<NU

3. Parental route/3{T=dR AN
4. Food contamination/ HI =gyl

Correct Answer :-

« Parental route/\’rﬂﬁ?ﬁxﬂﬂC

4) Constant presence of a disease or infectious agent within a given
geographic area is known as , example-cholera, malaria etc./ forett

fafdy +imfere &= & forelt A1 a1 Gprae sifieal @t evmaR IufRufa &1 Pad
T, 99 g, wafar, anfe

1. Epidemic/ HETHRY

2. Endemic/ W/ﬁﬁq&ﬁ’f T

3. Carrier/ dig®h

4. Period of communicability/ FRURIAdr & 3afd

Correct Answer :-

« Endemic/ W/ﬁ@u@ﬁ’r AT

5) A vitamin which helps in iron absorption is:/T®% faerfia s emR= sraxnyur &
TS B:

1. Ascorbic acid/ T&hIad 3T

2. Thiamine/ Yrafd=

3. Riboflavin/ JgaNifd

4. Pantothenic acid/ Ui 3

Correct Answer :-

« Ascorbic acid/ T&hiead 3w

6) Infectivity of chickenpox last:/ B¢l @ (fRIF-ureq) &t GpraEwdT gl
8

1. 3 days after appearance of rash/ qaR fauq o 3 e 91 d®
2. Till the last scab fall offs-Given/ SRR qﬂ?ﬁ iR oM d&



3. As long as fever last/Sd d& @R 38 9 d®

4. 6 days after appearance of rash/ GaR f&@+ & 6 9 a1 d&

Correct Answer :-

« 6 days after appearance of rash/ GaR fe@- & 6 9 a1 d&

7) Energy required to digest food, absorb, transport and store nutrients in

the body is called: /4S9 UaR, TR # G¥H dedl ST AT, GRagT iR HUSRUT
B § A arell el B FEd §

1. Total energy required/ $d AdGH Sl
2. Total energy expenditure/ od Sl oI
3. Body mass index/sls! A 3549

4. Thermogenesis/ dlUs—-q

Correct Answer :-

« Thermogenesis/ dlasH-d

8) Glucose is added in case of dehydration to infant for:/ JauTd § fsleliaur &
T § e FRY/FETA R T

1. Absorption of sodium/ TIfSTH & SERIT
2. None of the above/STH ¥ &5 g1

3. Source of energy/ il & Ad

4, Taste/ Wiq

Correct Answer :-

« None of the above/s_Fl'Ef I ?:I'ﬁ'sc qﬁ

9) A BMI greater than 25 (kg /m2) for women indicates:/ Afg@ei & a/a &
25 (fPun/Ht2) A aifee & BMI &1 3 8:

1. Over nutrition/ A T 36 Ty

2. Under nutrition/ I ¥ HH UIN0[

3. Balance nutrition/ Jgferd 9iwor

4. None of the above/ IWRIdd # ¥ P15 gl

Correct Answer :-

« Over nutrition/ I T 3HfeH ool



10) Angular stqmatitis, glossitis and cheilgsis is due to the deficiency of:/
DIV @UIS (TeR Tiersfed), gy (vararsfe) iR sinfaczar (Fafim)
__ o ol FPRUBA B

1. Niacin/ =

2. Riboflavin/ Jgetrifa

3. Cyanocobalamin/JraI& T e
4. Thiamine/ YA

Correct Answer :-

. Riboflavin/ Jsatifa—

11) One of the well tested approaches to control iodine deficiency disease in

the population is the distribution of:/SdYg T IS &1 FHI A 311 1 M W
o= Fe A ' guifem usfa § s 1 faavon:

1. Iodised water/ 3TATSH Jad oId
2. Iodised aerated drinks/ 3MarsH arfad Ug

3. Iodised salt/ 3TAISH g THD
4. Todised spices/ 3T Jad AT

Correct Answer :-

. Iodised salt/ 3G Jad THH

12) Measles vaccine is given under the National Immunization Programme:/

P wfoRefievur SRiwH & oraild @R BT aRIH Y g W @ &man @
1. 6 weeks/6 Tl

2.9 Months/9 Hig

3. 6 months/6 Hig

4. 18 months/18 HIg

Correct Answer :-

« 9 Months/9 HIg

13) Schick test is done in:/ H e udiar fpar wirar @
1. Meningitis/ AfFoTsed (AfkTshTaruRNY)



2. Diphtheria/ fewiifear

3. Pertusis/ TSR
4. Poliomyelitis/ Oifcral ATaTsfed
Correct Answer :-

« Diphtheria/ fewitfar

14) Meat, fish, eggs and milk are important sources of proteins of:/ Iﬁ'ﬂ,

Hod, oS ok gy ard W & wewyul W 3
1. High biological value/ 3= Sifa® A
2. High retention value/ 3= fdYRoT A

3. High absorption value/ 3= 329U A
4. None of the above/ SIRIGd & ¥ ®Is T8l

Correct Answer :-

« High biological value/ 3= wifde A4

15) The vaccine usually given to pilgrims to the Middle East is?/ Y0 qﬁ\_rlﬁ
ara &1 artal & e Sa-a1 aRi= fear s 82

1. Meningitis/ AFCTEcT (ARTSHTERURIY)
2. Yellow fever/ od SR

3. Influenza/ TSI
4. DPT

Correct Answer :-

« Yellow fever/ Uid SaR

16) Mycobacterium tuberculosis and Vibrio cholerae were identified by:/

APl e sapatyd R fAfat Pt A wga 7 @1 &
1. Robert Koch/ e HIg

2. Louis Pasteur/ ggd UIER

3. Newton/ <gc+

4. Einstein/3lg~dcIg

Correct Answer :-



« Robert Koch/ a9 HId

17) Recommended site of administration of DPT in infants is?/ Addlld ﬁT‘{[\’:ﬁ s |
DPT T &7 SRifd &I 8?2

1. Gluteal/ ‘qﬁﬂﬂa@ﬁ
2. Deltoid/ Sweiss U=

3. Forearm/ 3iUdlg
4. Lateral aspect of thigh/ﬁﬂﬁ aref YrT

Correct Answer :-

. Deltoid/ Swcigs Uit

18) Thiamine deficiency is usually caused due to:/ YT B HH AMHAR W
& HIROT el &

1. When people consumed more polished rice/ @ gRT UiferRT fhT §U arad &1 da MfId
ICUEIE]

2. Adapt improper cooking practices/ QI qhTH B &jﬁd YT 3T

3. Throwing excess water after cooking rice/ d1ad b & §I¢ §d AfdRad Ml & b
e

4. All of the above/3udad It

Correct Answer :-

« All of the above/qujEH gt

19) When was the first National Health Policy was formulated:/ ?‘I‘@'ﬂ Wy
Hifa &9 GHEx B W A2

1. 1983
2. 1987
3. 2002
4. 2004

Correct Answer :-
« 1983

20) Which of the following is an essential fatty acid?/ 378 ¥ P TP ATTYR
T 3T §?



1. Linolenic acid/ INGINIGEREL]

2. Ascorbic acid/ TEhIa® 3

3. Folic acid/ Wifeie 3

4. None of the above/G'CIﬁEH e Tﬁ'sc T8l

Correct Answer :-

« Linolenic acid/ INGINIGERE]

21) Malaria is caused by:/ wafear P PRI gIAT &
1. Plasmodium/ WHITSaH

2. Leishmania/<rRmf=an

3. Entamoeba hystolytica/ TucHIaT feelfcicdT
4. Clostridium/ FileISad

Correct Answer :-

« Plasmodium/ Wreafead

22) Growth Retardation and severe wasting of muscle and subcutaneous fat
are two constant features of nutritional:/ 3f& A= 3R UMY wa sreteaita T
&1 TR &, T Nwor grawh P & gad fa=ivarg g1

1. Marasmus / AR
2. Pellagra/ BRIV
3. Scurvy/ @ df

4. Stomatitis/J@UT® (LIHCIZC)

Correct Answer :-

« Marasmus / AR

23) Conjuctival xerosis means of conjunctiva./$edeTsad WRINY BT
Y ATz (Peidergar) b/ P q g

1. Dryness/ ?L@CF[
2. Blindness/ 3¢l

3. Softness/ Hgdl
4. Hardness/®ddl



Correct Answer :-

« Dryness/ ?I;@‘ZF[

24) Additional protein requirement during pregnancy is essential for? /THTaRT

& R e sifafvaa Wide & fg smawes g @:
1. Enlargement of uterus/ THRE &1 THR fS

2. Rapid growth of foetus/ ‘Tﬂ'@-[ﬁf-‘gﬁ LI

3. Both of the above/ RERCSRAR]

4. None of the above/ SWRIad & ¥ BIs ol

Correct Answer :-

. Both of the above/ SWRIad g

25) Protein, fat and carbohydrate are sometimes referred to as:/ Eﬁfﬁ, qd1

R FraEES B - wEr o @

1. Proximate principles/ ﬁwrﬁfﬂ?q’ (D‘T@Iﬂ? fﬂﬁlﬂ?ﬂ)
2. Important principles/ IIEET{UTH\EH(_Q’

3. Primary principles/ Uriffie d dd

4. None of the above/ SURI& H ¥ B3 8l

Correct Answer :-

« Proximate principles/ F®c® g dd (Uifeade OfRmaT)

26) Patients with tuberculosis of any other organ than lungs is known as:/
BB B IS B 4 fodl 3T & &G I (SgaRpaii) | fifsa Afrt ot C 4|
ST 3:

1. Extra pulmonary TB case/ Wﬂﬁiﬁﬁ atet By
2. TB of Lungs/ ﬁv‘qTeﬁ CARE]

3. Both of the above/ IWRIad G

4. Alcoholic TB/ Tedblgall clall

Correct Answer :-

« Extra pulmonary TB case/ Wﬂ?‘iﬁﬂﬁ el H

27) What are the limitations of RDA?/ RDA &I IJHTE &1 82



1. Recommendations only for healthy persons/ %ad W& HfGadl gg FIRET

2. Recommendations not for undernourished, obese or sick people/ $UIN, TIETAIRA
1 SR A o fore SR 8t

3. There are differences between individuals in their nutrient requirements/ Safaaal 3fik

I TIVUT a2l TS ISt b §F 3R 8id &
4. All of the above/3dad It

Correct Answer :-

« All of the above/qujEH gt

28) Following below methods can be adapted while assessing the nutritional

status of individual:/ 3afda $ Tiwvr fRIFT $T1 siiva H31 & fow 399 A foa fAfy «r
3YATIT S JHdT 82

1. Nutritional anthropometry/ TIoOT T :ﬁlﬁ[

2. Clinical examination for nutritional signs/tﬁ'ﬁrUT g Yobdl Bl AgID (dﬂ(\lﬁwm) Sir

3. Biochemical rstimation/ SRS i

4. All of the above /3udad wft

Correct Answer :-

« All of the above /39ad i

29) The protein provided under ICDS scheme to children till 6years of age
include:/ ICDS TSI & 3~iid 6 a4 AP DI AT aTd g& DI ¢ ST arel U= Bt
HTAT &

1. 8-10gm of protein/8-10 UH SIrp!
2. 15gm of protein/15 UH SIrB!
3. 12gm of protein/12 IH WA

4. 20gm of protein/ 20 UH O

Correct Answer :-

« 8-10gm of protein/8-10 UM UIcH

30) Rational response to diarrhea:/ ¥ W d&HTd ufafear-
1. Intravenous theraphy/ 3=1:RRIT (Serdi=9) fafdar

2. Salt and sugar solution/ TH® g R[AH BT o

3. Household food/ ‘Eﬁ?j\'l-ﬁﬁﬁ



4. All of the above/ I0dad it

Correct Answer :-

« All of the above/ ITad it

31) Multivitamin supplements containing folic acid during pregnancy reduce

therigkof-/mﬁaan%?aﬂﬁuﬁﬁmmgwsﬁwm@aﬂ CaRSIIECE
YcIdl &:

1. Neural tube defects/ @< ATd &Y (IR &4 [Shae)
2. Goitre/ YT (T13R)

3. Diabetes/ ﬂﬂ'ﬁ'&'

4. None of the above/IWRIad ¥ ¥ s gl

Correct Answer :-

« Neural tube defects/ a1 ATd IV (XA cgd fethae)

32) In control of communicable diseases, the period of quarantine in respect

of a disease is determined by:/IJ=RURNE I & fAa—dur #, fHd A7 & T A
WRYY F 3rafyr @1 fHafor §IRT g &:

1. Duration of iIIness/fﬂTﬁ 3y

2. Carrier state/ dlgh AR

3. Incubation period / RAMTIga 3fafy

4. Infectivity period /IhHURNC]/IAHHGAT AT

Correct Answer :-

« Incubation period / Iga 3@

33) Vitamin E is the major lipid - soluble vitamin which possesses:/ﬁ:lETﬁl‘—l E

98 g fofus gai=ite faerfiea 8 o giaT 8:
1. Antioxidant property/ @a&m@wﬁ'ﬂw

2. Ageing property/ SIRUT 01
3. Destructive property/ fa-TRI®R] o
4. None of the above/ IWRIad & ¥ &g gl

Correct Answer :-

« Antioxidant property/ TUcI3{RITSUC T[0T



34) Smallpox was eradicated because of the following factors except:/ $70 §

P BIe®T o BRB] S PR A (FTAUTGT) BT I &l UrT U1?
1. Long incubation period/ el Tega 3afy

2. Extra human reservoir control/ 3ffdiad A HeR gz

3. Easy to recognize/ UgdlHd T gadn

4. Potent vaccine/m CERIE]

Correct Answer :-

« Extra human reservoir control/ 3fdRad AMG Y8R g0

35) The National Nutritional Anaemia control programme that aims to

prevent and treat anaemia in:/!TgTCr Tryur gra=ft Yadreddl fAa-aor srded
H IFTeUdT ®1 AU TF IUIR HI W afdd 3:

1. Healthy person/ W Hfad

2. Adult man/ 3g¥h gy

3. Pregnant women/ adt IIT%’FITGﬁ

4. None of the above/ IWRIFd H A Eﬁ'sc:@

Correct Answer :-

. Pregnant women/ TTad Afgarafi

36) Poor nutritional status prior to and during pregnancy has serious and

long-term effects and there is a risk of:/ﬂﬂ-ﬁilw | u'@‘?r qUT ITH ﬁ?‘l‘—l qiyor
fRfa @R1e g1 & ™R e uura gid § ok BT TN il Y87 8:

1. Maternal morbidity/ ﬂ]ﬂ?ﬂUrQﬂFlﬁT

2. Early/preterm delivery/ Qﬁﬂ/ﬂmﬂﬁ uqd
3. Low birth weight/ 5H & gHG a9 HH

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad it

37) List two conditions arising due to energy imbalance:/ et va_gﬁl:fﬁ 34d
g9 areft gt fRuferai aarg:

1. Obesity and chronic energy deficiency/ TeTaT 3R r1fers Sl AdT



2. Cholera and diphtheria/ %\‘rﬂ 3R fewhifear
3. Typhoid and malaria/ TBISS 3R HARAT
4. Measles and tuberculosis/ @I Gﬁ??ﬂ;aw&rﬂ

Correct Answer :-

. Obesity and chronic energy deficiency/ HieTdl 3R Srfa1fers SHoif =grar

38) A simple sugar which is a major source of energy for all the body cells is

? /T T T S IR Ft It Fiflewret & e et &1 wia | 82
1. Cane sugar/ T &1 B

2. Sucrose/ W

3. Glucose/ mﬁa
4. Fructose/ Tacial

Correct Answer :-

« Glucose/ @ISl

39) Breasfeeding prolongs the period of natural immunity to viral infection
like:/ UM, $S fauTy] Jepaon o= & favs wrpfae uferen &t eafy ot awn
H T 8

1. Some kind of pneumonia and diarrhea/ & UHR & AT 3R Txd
2. Polio/ qifera

3. Both of the above/ JWRIad GHI

4. Diabetes/ Hgﬁ%’

Correct Answer :-

. Both of the above/ IWRIad gl

40) The measure of health status of children in a community is:/ Jqqd | gl
1 Wy fAufa #1719 3-

1. Infant mortality rate/ Fa9ld Hg &
2. Maternal mortality rate/ HI§ §g &}
3. Crude birth rate/ 3N FH &
4. Crude death rate/3f=Nfed g R

Correct Answer :-



« Infant mortality rate/ FdvlTd g aX

41) Pregnant woman should avoid following foods in the diet?/ T¥adt i #
3 AR H 379 ¥ f5y UPR & HISH | I941 91fgu?

1. Stale food/ ST YIS

2. Junk food/ S BS

3. Spicy and oily gravies/ HITAER 3R deiig 39T (3t
4. All of the above/ B“q?ifﬁ gt

Correct Answer :-

« All of the above/ Iudad Tt

42) What is the recommended allowance of calcium as per ICMR 2010 for

women?/ ICMR 2010 & 3R fFaal & fou Siekmam o srq=ifya srqufa forat 82
1. 600 mg/ day/600 fn/fea
2. 400 mg/ day/400 fin/feq
3. 300 mg/ day/300 f&Rm/fea
4.700 mg/ day/700 frn/fe=

Correct Answer :-

« 600 mg/ day/600 frn/fe=

43) The functional effects of iron deficiency anaemia include:/3RT &1 HH A
B gt T & Srafere gyl ® Wi 8

1. Fatigue, restlessness and impaired work performance/ Terad, I 3R eftor et

2. Disturbance in thermoregulation/ dUa~<0l H TSda!

3. Increased maternal and perinatal mortality and morbidity/ HIJ G?I?W'q’—tlj RO
o oo & gfg
4. All of the above/Gq?iaﬁ ekt

Correct Answer :-

« All of the above/GCI{Iaﬁ ekt

44) Basal metabolism increases during pregnancy as a result of- /THTaRIT &

SR & SR MY TaTeEy § 9f i @



1. Accelerated tissue synthesis/ @Nd Hddp LAV
2. Increased active tissue mass/ Gihd Hddh sqqH F gig

3. Increased cardiovascular and respiratory work/ geddiig®id Td HUHHg Uk q@
4. All of the above/3udad I+t

Correct Answer :-

« All of the above/3udad I+

45) During Pregnancy the iodine deficiency disorder could affect fetus in

following ways like:/ THTGRIT & SR MNSH a1 fawR fora-fra yer & mifw
g & guifad % god 82

1. Neurological cretinism/ dfd®1g shet-dm (aTH-dT)
2. Deaf mutism/ b SR

3. Squint/ g

4. All of the above/Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt

46) A vegetarian mother have more chance of getting the deficiency of:/

MHERI AT A __ 3t HHI g &t JuTaAT i gt 3-
1. Vitamin B12/ faeifid B12

2. Vitamin C/ faeTf®= C

3. Vitamin A/ facTf® A

4. Iron/3TORA

Correct Answer :-

« Vitamin B12/ fqerfid B12

47) Under antodaya ann yojna scheme which is a supplementary food
security scheme which caters to poorest of poor entitles a distribution of

kg of food per month per family:/ SISy 3 YIS P 3=NId 98 PiA-
Ht TP e @ gR&m e @ S Frefae afdm) @ W= wfa wrg ufar
iR & forg ur Tt @

1. 40 kg/ 40 fo3n
2. 35 kg/35 f&ur



3. 30 kg/30 f&ur
4. 38 kg/ 38 four

Correct Answer :-

« 35 kg/35 fan

48) Prenatal development comprises of:/ WId Ud fa®ry & =i &:
1. Periconceptional period/ THYRU-gd 3afer

2. Embryonic period/ ?{Uﬂﬂ 3afy

3. Foetal period/ v 3rafy

4. All of the above/3udad Tt

Correct Answer :-

« All of the above/qujTﬁ gt

49) Period of maximum infectivity in mumps is during-/mﬂlﬂﬁﬁm
(T7T) § Siftrpay YehTHSdT &1 raft & RT gl 3:

1. Onset of swelling/ goiH &1 =31

2. After swelling appears/ gui1 foem & 918
3. Incubation period/ IFM&a 3afy

4. Prodromal period/ ﬁ"TCIﬁ?[&FUT 3afy

Correct Answer :-

« Onset of swelling/ goiH &1 =31

50) Phrynoderma is caused by:/ fir=isnt P PRI BT &:

1. Deficiency of Minerals/ @il BT HH

2. Deficiency of B complex vitamins/ B Py faeTiql 1 o

3. Deficiency of essential fatty acids/ 3FATaRg® (AH-3VREAA) TAT Al BT HH!
4. None of the above/ T:FC@ER-I =i ﬁ'sc T8l

Correct Answer :-

. Deficiency of essential fatty acids/ 3FGRI® (Ai--SURA) T Al BT HHT



Which of the following diseases gives life-long immunity after an attack?/

9 | HIF-9T I AT & 1 Sia=-ud=7 ufavem ¢ Srdn 82
1. Mumps/ SRR/ TGS (FIET)

2. Typhoid/ TA®ISS

3. Diphtheria/fSwifar

4. Tetanus/feeg

Correct Answer :-

« Typhoid/ TA®IZS

52) After food reaches back of mouth, swallowing a becomes:/HISH & & &
fUsa YT | ugd 91 & a1¢ s @t ufsean gl STl 8-

1. Voluntary/ =0

2. Involuntary/ s
3. Automatic/ gTferd
4. Mobile/Tia=iTe

Correct Answer :-

« Automatic/ @dTferd

53) Green leafy vegetables and fresh fruits are poor source of:/ T ™eR
gfesrat 3R T v ®1 33T |id &l &

1. Dietary fibre/ 3TERIT W
2. Protein/ udE

3. Vitamin K/ faerf®= K

4. Vitamin A/fdeTfiq A

Correct Answer :-

« Protein/ UI¢H

54) Colostrum is a yellowish thick fluid, rich in: /9y (Hidied) T& e Tmer
9 BT @ i) # | gl o

1. Proteins/ I

2. Immunoglobulins/ SRR
3. Electrolytes/ 3daciaige



4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad et

55) Which one of the following is indirect method of assessing the nutritional

stat%s of Individual?/ 98 ¥ 94, Afad 31 Nl fRAFT 1 Sipad B B U
fafdr g2

1. BMI
2. MUAC

3. Age specific mortality/ 3mg fafR1Y Tg&/mARURIed

4. Biochemical estimation/ SaRTA™IN® 3fTh

Correct Answer :-

. Biochemical estimation/ SRS 3{TH T

Topic:- Grad_General Knowledge and Logical Ability

1) The maximum zoom percentage in Microsoft PowerPoint is:/ mmﬁ Sferpan
I wfa=rd 8:

1. 100%
2. 200%
3. 300%
4. 400%
Correct Answer :-
* 400%

2) How many squares are there in the following figure?/ =% 3mgfa & ot #t
T@ fat g2

1. 16

2.17

3.26



4. 30

Correct Answer :-

« 30

3) In which year did the Child Marriage Act come into force? / T« faatg
srfereaw g ad & 9 3T 9?2

1. 2006
2. 2007
3. 2008

4. 2009

Correct Answer :-

« 2007

4) Which of the following is called as protocol / ffg # @ &9 T Meldia Heardar
2

1. http / TadIdd
2.//

3. www/ S&] S&] S
4. .com /. ®H

Correct Answer :-

- http / TdidId

5) After 2019, how many villages will have to be developed under the
Saanjhi scheme by 2024? / 2019 % T=Td a9 2024 T Tt TTSIAT & SAvd oha«T ATHT HT
T AT I=T?

1.3

2.4
3.5

4.6

Correct Answer :-

e 5



6) When was the Ministry of Tribal Affairs bifurcated from the Ministry of
Social Justice and Empowerment? / SASTAT T3 HATAT FT H 199 9 & GrATRG =0T
I STARTRAT FTT & 7o FohaaT 1IaT?

1. 1999
2. 2000
3.2001

4. 2002

Correct Answer :-

« 1999

7) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’? o<t affa (Trham) stfer=am, 1987 & siaviq
% & & F wigATH &1 TA ¥ AT H TG AL ST AHAT 872

1. A widow being burnt alive along with the body of her deceased husband forcibly /

U HigdT (ST 99 gk I & a8 & a1 TaLaed| STl [&F7 T W@l g

2. A widow being burnt alive along with the body of her deceased husband voluntarily
| T FigAT fSa! 797 gaa 91 % <8 & 97T I g 1qadh STl [&d7 31 @l g

3. Both of the above / 392k =T
4. None of these / Z%  FE 7l

Correct Answer :-

« None of these / 3% & #T$ &

8) In which year was the Right of Children to Free and Compulsory Education
Act or Right to Education Act enacted? / [:e% Ua srfqard farerr g g ad &
i o am?

1. 2008
2. 2009
3.2010

4, 2011

Correct Answer :-

« 2009

9) The MS-Word text transfers them automatically to the next line when
they reach the right edge of the screen. It is called / THEY-98 TRT Pl oId



3 T & IIfeA fFAR 9% uga 9T @ ) S8 3IUR 3MT 3Telt ATgH W RIFiastd &edl gl
T _ g1 SITdT 82

1. Enter / TR

2. Word Wrap / CEEU]

3. Auto Scroll / 3ffcl &hid

4. Carriage Return / Fieer e

Correct Answer :-

« Word Wrap / CREL

10) What would be the approximate compound interest (in Rs.) of Rs.15,000
in 2 years at the rate of 5% per annum compounded half yearly?/'FlTa 15,000

P12 T4 & o H 5% ufqad a1l $t G A BUTE! TVUHET FRA W Ahgies AT T) T
T BRT?

1. 1557.20
2.1829.35
3.2163.85

4,1975.75

Correct Answer :-
« 1557.20

11) Which file format can be added to a PowerPoint show?/PowerPoint o H
DI T WIS WY SIIST o Dl 82

1..jpg
2. .gif

3. .wav

4. All of the above / Iudad it

Correct Answer :-

« All of the above / Iudad It

12) Which one of the following figures represents the relationship among

Shirts, Bed sheets and Towels? /=1 & @ Hi9-4 snpfa wiw, areR sk difed &
¥ W= 31 giidl 32



00
o [°©

(1) (2) ¥ 4)

8
g

1.1
2.2
3.3

4.4

Correct Answer :-

e 1

13) Which one of the following options is/are not true? / % & ¥ Fi=4T AT a&r
T8l 82
1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance

from a joint Hindu family/ &= STTterame sfafaaw, 1956 afedt &l UF S (grg Ia &
el STHTereRT =T STTArRTE 9T Jahclt

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / &g STTa=RE Femtee sTfafaaw, 1956 & FT AfeTT &l
FI ATSAT F A1 FArea 1 srteshre sare & =

3. Both of the above / 39%I<k Tl
4. None of these / 378 & T A21

Correct Answer :-

« None of these / 2% & #IE LI

14) What operating system is used as the base of the Android stack? /ﬁ{sﬁ_&'
VH & YR W BT SATaRfeT Rieed &1 IuaiT fovar Smar 32

1. Linux / GG

2. Windows/ fder
3. Java/ S[dl

4, XML/ 3 TH 3

Correct Answer :-

e Linux/ INGC

15) DIRECTIONS: Which of the following figures is exactly the mirror image of
the question figure, when the mirror is held at MN? /ﬁ%‘ﬂ: frad e d@ser

TP U= MTPHid BT gYur ufafaa gift afe T gdur ¥@1 MN W @1 S1a?



Question Figure: T mq:ﬁr

I®

Answer Figures: Ieod M4

i )

(3) (4)

il

(1)
1.1
2.2
3.3

4.4

Correct Answer :-
e 4

16) DIRECTIONS: Find out missing number from the figures given below./

o= i & wit sreforat & qua Tem wrd S

3. F

4.0

Correct Answer :-
« R

17) In which year was the Hindu Succession Act enacted? / g ad & g
ST stfarfeam A T rm?

1. 1954
2. 1955
3.1956

4. 1957

Correct Answer :-



18) DIRECTIONS: Study the following pie chart carefully and answer the
question given below. /3% fAufefad urd ard &1 o= T rmua R AR feu MU Uy &
IR o |

Distribution of students studying in a University /T& fayfaemeay o sreaaa # 3@
BTl &7 fauTeH

Total number of students /$d BT B! BT = 1500

ArtsHHT, 10%

Medics rbufm. 8%
Commerce TR, "

.
3% ,

— Managemant/ T,
16%

Soience,/FirFmT, 18%__
e S
T Engmwing.m

16%

The ratio of number of students studying in Engineering and science are

respectively:/ ST 3R fagm # ug ¥R faenfiat &t v &1 wawr: srqura @:
1.1:3
2.2:7
3.5:6
4. 3:5

Correct Answer :-

« 5:6

19) The speeds of Aman, Aditya and sanjay are in the ratio of 4: 5: 6
respectively. If all of them covers equal distance, then the ratio of time
taken by Aman, Aditya and Sanjay are respectively:/ 3#HH, 3fecT ik Torg &Y
TIfr T 3T HHRT: 4: 5: 6 g1 afe Jt TuT gt 79 F=a §, a1 o, e iR "o gy
1T T JHY ®1 SguTd U §:

1.16: 17 : 9
2.15:12: 10
3.2:7:9

4.1:3:5



Correct Answer :-

e« 15:12:10

20) Which of the following schemes of the Ministry of Tribal Affairs have not
been identified to come under Direct Benefit Transfer? / ¥ & § 199 AT
FT HATAT & TISTAT TFE ATH AL % FAIAT A o6 1T AT Tl 74T 872

1. Post Matric Scholarship for ST Students / SIqH™T AT & AT % oI Tree-ates graghr

2. Top Class Education for ST Students / SITHT AT % STAT & (7T 21T FATH Fqe27
3. Rajiv Gandhi National Fellowship Scheme / Trstta ieft Tfg HaATtord TreT

4. National Overseas Scholarship Scheme for STs / SE=T STHASTTAAT % o0 TERT TATHT

Correct Answer :-

. National Overseas Scholarship Scheme for STs / ST STASATAAT * oI TETT TATRT

BIEEINERISTI

21) In OSI model, Transmission data rate is decided by:/ aﬁwan's‘mﬁ
IR STeT o} @1 fHula femm wirar 8:

1. Physical Layer/ e d R
2. Transport layer / TRAIE TR
3. Data link layer / Scifdid oaR
4. Network layer / Jedd AW

Correct Answer :-

« Physical Layer/ e d R

22) Assisted reproductive technology, IVF involves transferof-/IVF A wyHiaid fear srar %—
1. Embryo with 16 blastomeres into the fallopian tube/16 PHROHWUS] dTel Yol &1 Ao Tat &

2. Ovum into the fallopian tube/37STU] &1 Balfugd Tet &

3. Zygote into the fallopian tube/gTHS ®1 Henfog et §

4. Zygote into the uterus/JHAS HI TRYNG o

Correct Answer :-

» Zygote into the uterus/gIHTS &I TRUT



In which year was the scheme Swachh Bacche Swasth Bharat launched? /
=g 9g e HILT JISAT T SITTFA HIA9 I § gaNr?

1. 2013
2.2014
3.2015
4, 2016

Correct Answer :-

« 2016

24) In which year was the Vanbandhu Kalyan Yojana launched? / a9<+¢ &m0
JISET 19 a9 & ST 363 197?

1. 2013
2.2014
3. 2015

4. 2016

Correct Answer :-

- 2014

25) Lalit walks 9 km east, turns south and walks another 4 km. Then, he
takes a right turn and walks another 3 km. Now, how far is he standing from

his starting point?/aferd qd fa=m & 9 fare} =@ 8, fpr afeor fezm ¥ gear @ sik
4%%ﬁaam%lﬁwagaﬁgsm%eﬁv3%chm%| 39 98 RIS fig A feait gl W=
ST 8?2

1. 7 k7 Tt
2. 12 km/12 fooedt
3.5 km/5 fodt
4.10 km/10 ot

Correct Answer :-

« 5 km/5 fdt

26) Which organ is mammal contains Glisson’s capsule?/ TT~al & fa o1 & W'ﬂwaﬂ?\‘lﬁ T
ST 82

1. Stomac/3HIRY

2. Kidney/ddch



3. Testis/qYh
4. Liver/ U d

Correct Answer :-

e Liver/ Ydbhd

27) The National Safai Karamcharis Finance & Development Corporation is an
undertaking under the /TET gTE FHAT A Sar e Ao s
HATAT F A TR TEATT 8§72

1. Ministry of Human Resource Development/dT¥a S9Te fame #=mers

2. Ministry of Finance/fa< aaiera

3. Ministry of Social Justice and Empowerment/amaTiors wam i< srfersrTiar g
4. None of these/za® & #I< AT

Correct Answer :-
« Ministry of Social Justice and Empowerment/aTaTiore =11 i< StferrTiar e

28) “Food grains” under the Food Security Act, 2013 means-/ @1 &
sferaaw, 2013 F AqaR A9 § & Fi99T “@ram” F dqura war g2

1. Rice, wheat, pulses / =ma«, g, a1

2. Wheat, pulses, coarse grains / g, &, T AT

3. Coarse grains, pulses, rice / ¥ TS, &7, AT

4. Rice, wheat, coarse grains / F1ae, g, ¥ AT

Correct Answer :-

« Rice, wheat, coarse grains / 1, g, ¥ AT

29) In which year was the first National Commission for Women constituted?

/ TETH TE AfEAT s e ad & wrfsa e @ an?
1. 1990
2.1991
3.1992

4, 1993

Correct Answer :-

« 1992



30) Human Sweat contains: / HI-Id Lreic k| ﬁ?ﬂ %?

1. Pure water/ {[& Sicl

2. Water, salt and waste matter / ocd, IdUT 3R m W?f
3. Phosphoric acid / BIRBINSG 3T

4. Calcium phosphate and water / Sy BIahe 3R 5d

Correct Answer :-

e Water, salt and waste matter / SIc], dU[ 3R m tl—c('T?f

31) How many clusters does the Shyama Prasad Mukherji Rurban Mission
aim to develop in the first phase? / SITHT YHIE Y@ €& (AT & T8 907 § fohae
FACL AT T foFaT SITumm?

1.100
2.125
3.150

4.175

Correct Answer :-

« 100

32) When was the National Commission for Scheduled Castes formed? / Tga

ST ST ST &1 i TATSq FRAT TAT?
1. 2004
2. 2005
3. 2006

4. 2007

Correct Answer :-

- 2004

33) A sum of Rs.89,00 is divided among X, Y, Z in such a manner that the
shares of X and Y are in the ratio of 4:5 respectively and those of Y and Z are
in the ratio of 6:7 respectively. Share of Y (in Rs.) is: / U 89,00 G| X, Y 3R
Z & U 39 YbR fautfora @1 73 8 fp X iR Y & fawa &1 arqura $usr: 4:5 qur Y ik Z
& fe=al &1 SrguTa U= 6:7 31 Y 1 o=t (3. ®) &:

1. 2800



2. 3000
3. 2600
4. 2500

Correct Answer :-

« 3000

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafEd vy & usars e (2) & ®=H
TR T B AT I ST 2

4/11130.25 _ 2

1. 105
2.125
3.115

4. 135

Correct Answer :-
« 105

35) People drinking water from a shallow hand-pump are likely to suffer from the diseases:/ a

<RT S IYS FSUT & T Ui B S PITH A I 8 Fhd o

(i) Cholera/ &<

(ii) Typhoid/ CIS®IgS

(iii) Jaundice/ Uiferar

(iv) Flourosis / uqahﬁﬁm

The correct answer is:/ I 3T %/ %
1.1, 11 and iv

2.1, ii and iii

4. 1 and iil

Correct Answer :-

e 1, ii and iii

36)



In a class of 120 students, 40% can speak only Marathi, 25% can speak only
Gujarati and rest of the students can speak both the languages. How many

students can speak Gujarati?/ 120 BT &I TP H&T §, 40% Ppdd AT §1d TP 8,
25% W;ﬁﬂ?ﬁﬁﬁm%sﬁ?ﬂwwﬁ YTYTE S 9Pd 8| $o fha- BT TorTdl
A gPd g ?

1. 50
2.75
3.72

4. 55

Correct Answer :-

37) Gestation period is the duration-/ THETRUT HTA B SARIT HEaAT< 3-

1. Of fertilization/ fIS=

2. Between egg growth and ovulation/ 33 qf& Td 3 Oi;l\a-‘ll"l & o
3. Between fertilization and parturition/ S Td Ydfae= - & ae
4. None of these/ m E:If[ I :|_E;p[

Correct Answer :-

« Between fertilization and parturition/ S Td dfae=- & ae

38) To insert a hyperlink in a slide: /U®% W58 H SISt AfMfera a1 & o
1. Choose Insert >> Hyperlink /3¢ >> g[S g1

2. Press Ctrl + K/ Ctrl + KEEITﬁ

3. Both of the above/SURIa G

4. Hyperlinks can't be inserted in slides/XISS T geuRfcie AiRIferd el fbdT oI Tahdl

Correct Answer :-

« Both of the above/IURIad Gl

39) Pavan sells an article to Rajesh at a profit of 5% and Rajesh sells it to

Urmila at a profit of 10%. If Urmila pays Rs.6930 for it, what was the cost
price (in Rs.) for Pavan?/ 9a- &l axg &I ISR A 5% YATHT D 39 &dT &, IS,

IR A 10% YATHT AHR 98 a%g 99 a1 31 afe SFar #1 .6930 YA H1 UL, @Y ya=
BT 00 T (3. T) FT 41?2

1. 5080



2. 6250
3. 6000

4. 5750

Correct Answer :-

« 6000

40) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements./ f33n: 2 for e u=a ¥ o0 $Y SR 3@ 915 $ Fewd feg T &
ATYH! FIT MY HY B T T 8, WA & 3 Jdgrd aat A fu=1 wefta g g 1 aaft st
oI ufen fibr aa Hifo f¥% for e frspuf ¥ 3 &9 91 ahw7d 9 A SR Rl 3, a1
TdyTd 97 $9 W g

Statements:/dYA:

All kites are bats/d¥l udd, THES &

All bats are tabIes/H"-ﬁ JHIIGS, ﬁTrr%

Conclusions: /o

I. All tables are bats/ 9 A9, THES &

I1. Some tables are kiteslwﬁﬁ,qﬁ%'

1. If only conclusion I follows /Hﬁmﬁwﬁx &IT;NTUTW?IT%

2. If only conclusion II foIIows/q%WﬁEh_@f II &@TUTW%

3. If either conclusion I or II folIows/Uf?HT?ﬁﬁfEﬁﬁf 19111 WW%
4. If both conclusion I and II follow /U%ﬁ'@b'ﬁ I 3R II a1 &@TUTEF{?[%

Correct Answer :-
. If only conclusion II follows/df¢ %ad sy 11 TR BT 8

41) If the average of a, b, ¢, d, e and f is 30, then what will be the average of
a/3,b/3,¢c/3,d/3,e/3 and f/3?/df¢a, b, ¢, d, e 3R f &1 3Ad 308, At a/3,
b/3, c/3, d/3, e/3 3R f/3 &1 3Ad HT gIM?

1. 18
2.15

3.12

4. None of these/sﬁﬁ@faﬁéﬁ



Correct Answer :-

« None of these/éﬂﬁﬁﬁ'ﬁc:@

42) A, B and C contracted to do a work for Rs.13000. A can do the work in 2
days; B can do it in 3 days and C can do it in 4 days. If they work together to
complete the work, then what will be the share of C (in Rs.)?/ A, B 3R C gRT
et S8 T HA & fE 3. 13000 H S foram maT1 A Srban S FH @) 2 feAT |, B
3rhar 39 3 fel A qur ¢ Fpen A 4 fei A R awar g1 afgadi N er ay s w3, @ €
31 fear (5. ®) &1 grm?

1. 3000
2. 2200
3.4000
4. 6000

Correct Answer :-

« 3000

43) Which answer figure will complete the pattern of the question figure? /

e o 3 3t Y SR spfa wy i 3t guf wvft?

~
LW
L
e
LB
g



44) Pointing towards a girl, Arun said, “she is the only daughter of my
paternal grandfather’s only son”. How is that girl related to Arun?/ TH ASPI

P 3T FRT FIQ §U 31 A Fgl P a8 A TSl & THATH YF &1 AT T 3 98 asat
50T A frd uepR awEiia 82

1. Sister/dgd
2. Mother/lﬁ

3. Daughter/ Gt

4. Daughter-in-law/4adY

Correct Answer :-

« Sister/dgd

45) For which of the following level was the Kayakalp scheme launched for

the first time? / sy AT Roferfa & ¥ wet St F fore gy sy fBrar /& a2

1. Community Health Centres (CHCs) / ATHETI a1 &%
2. Primary Health Centre (PHCs) / wtaf&e Tamea &g

3. Sub-Divisional Hospitals (SDHSs) / ST-HEd &qdT

4. District Hospitals (DHs) / T sreaarer

Correct Answer :-

« District Hospitals (DHs) / St steaarer

46) Another name of autoimmune thyroiditis is-/ W;Iﬁ?&‘ﬁ %ﬂﬁ?ﬂgﬁ'\q DI A ATH %—
1. Addison’s disease/ T&T AT

2. Simund’s disease/ HTSHUS T

3. Cushing’s Syndrome/ ?&T‘Tﬁﬂ

4. Hashimoto disease/ %Qﬂ?ﬂ?’f @T[

Correct Answer :-

e Hashimoto disease/ |%Q||II|E| T

47) Which of the following acts is included in the definition of domestic
violence under the Prevention of Women from Domestic Violence Act, 2005?
/ =5 fEar & wiger wweror sfafaam, 2005 ¥ siqsta A & & w9 Grar = &9 F e | or
T 872

1. Insulting her for not having a child / g7 AT g1+ % FTLT TTHTAT FHLAT



2. Harming her relatives to coerce her to pay for dowry / g % o0 Saawdt e 9 3
Rredamet 1 g1 ag=mT

3. Repeated threats to physical pain / eEIRE TET Tg=TT FT I AT GHAT a7
4. All of these / I9T<R Tt

Correct Answer :-

« All of these / IUI=s Ty

48) Digestion is not a function of which of the following ? /UTd- 3t fopar forg o @ foraet =rd T'Iﬁ
&

1. Biotin/STaife

2. Pepsin/a'@ﬁ

3. RenninRfAH

4. Amylase/\’rm

Correct Answer :-

« Biotin/drIfed

49) Which of the following statements is/are true about the Indecent
Representation of Women (Prohibition) Act, 19862 / \fgaT &7 srws whafafaea
(FFroren) srferfam, 1987 wvaeelt wivaT fawed a8t 872

1. It extends to whole of India, except Jammu and Kashmir / 98 faaw S &7 FediT
& AT L AT H AR &

2. Representation on any ancient monument cannot come under this law / fT ST

TATEE | T AT TS Tiafaieea 30 At =g & st qgi o Tad’
3. Both of the above / 394 T=T
4. None of these / =#% & &I Aal

Correct Answer :-
« Both of the above / 39Z=F TT

50) If ‘orange’ is called ‘butter’, ‘butter’ is called ‘soap’, ‘soap’ is called ‘ink’,
‘ink’ is called ‘honey’ and ‘honey’ is called orange, then which of the
following is obtained from milk?/afe ‘TR’ & ‘HEG’ HgT AdT 8, ARG’ B ‘GG’
HE1 SITdT §,"AIgT’ DI "TTEl’ BT STl 8, TR’ B ‘XIS’ el oIdl 8, GG’ Dl “HaRT’ Fgl
wrat 8, i ® @ 39 31 gy @ ure e wrar 32

1. Honey/RIgq
2. Butter/HRd4



3. Ink/Ta!
4, Soap/9I1g-d

Correct Answer :-

51) In which year did India ratify the UN Convention on the Rights of the
Child? / w<a 7 3 a9 § S T T ATAHTE TEHAT (Fea o) FHT REHT0r Far?

1. 1992
2.1993
3.1994
4. 1995

Correct Answer :-
« 1992

52) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fadar: frufafed uy o uyaras e ) &
R THIT DI AT | ST ?

(560 x 15.98) + 12.4001+960.15 = ?
1. 1596
2.1682
3. 1605
4. 1865

Correct Answer :-

53) Match List I (Disease) with List II (Type of disease)./ '\‘ﬁ'ﬁ 1 &1 ﬁ?ﬁ 2§ firam:

; List I/ ¥ 1 : List II/ 3T 2
Al Hemophilia/ BrATHITT 1. Deficiency disease/ EEI’I'EITF[ Tar
B. Diabetes/ #IHE 2. Genetic disease/ 3=aifd® T
C. Rickets/ T&ed 3. | Hormonal disorder/ gEfaa dfEaf@Eaar
D. Ringworm/ Ti=raid 4. Fungal Infection/ e HehaoT
The correct match of the lists is:/ Td fora= &Y tl?ﬂTﬁl'Q
1

A |8 fc |p |



2 |3 |4 |1
2.
A |B |C |D
3
3.
A |B (C |D
2 4
4,
A |B (C |D
2

54) DIRECTIONS: Choose the missing terms out of the given alternatives./

frrdr: fog e fasedt & @ gw el & 3ra 3|
L_NOO _ ML _ MNO _ NML

1. MNLO

2. ONML

3. NLMO

4. LOMN

Correct Answer :-

« MNLO

55) Till what age of a girl can a Sukanya Samriddhi Account be opened under
her name? / T JTferT & Forae a6t IT T S ATH HT GhedT T g GTAT GrAT ST THhaT 872

1.6
2.10
3.12

4.15

Correct Answer :-



Topic:- Grad_Managerial Skill

1) Which of the social philosophers called sociology “Social Physics”?/ &=
THATIST ST § THTSTLATE T "HTHATSR A" FgT AT?

1. August/ riTeq

2. Wolfed pareto/ aTe®e 9¥ar
3. Mac Iver/ &= amga<

4. Herbert Spencer/ g@ae ¥HaY

Correct Answer :-
« August/ srTeq

2) Members of a team have been cross-trained so each person is able to
perform the duties of all the other team members./ T T & T 1 59 THE
gre-gfarfera (Fwia-zve) frar & & g2 = svg oy S geeat & et @ ffdegs w0 & aaw
&l

1. Functional/ Faia+
2. Cross-functional/ 9I-FaT<q+

3. Multifunctional/ agFraic=
4. Self-directed/ =a-fAzfaa

Correct Answer :-

« Multifunctional/ g aica

3) Which one of the following is a ‘secondary group’?/ 7% & %19 U% ‘fgda+ a4z’
2?

1. Nuclear family/ wser afame
2. Peer group/ F=/aa®er 94
3. Association/ %

4. Joint family/ 9% 9RET®

Correct Answer :-

« Association/ @9

4) Problem solving method in which all members of a group fully accept and
support a decision:/ €T g FIA #T T (ATe SEH 99z F a9 qae7 & [ &1 0 938
TR FT A 3 M S GHAT I &5



1. Norm/ HT9sS
2. Compromise/ T9=TaT
3. Goal/ @&

4. Consensus/ AMq-Ag9fd

Correct Answer :-

« Consensus/ ATH-AgAT

5) Communication is the task of imparting:/ 91X, ___ Y&TH 1 T 54 &
1. Training/ wforegor

2. Information/ ==

3. Knowledge/ sm=

4. Message/ Haett

Correct Answer :-
« Information/ T=T1

6) “Man is a social animal.” Who said s0?/ “0q57 T& aTHT (T §1” 8 Fohaw #a7
aT1?

1. Comte/ &

2. Aristotle/ s1¥g

3. Plato/ =2t

4. Karl Marx/ =Tet AT

Correct Answer :-

« Aristotle/ sreq

7) Social sector includes:/ TR & & ___ 9T« 81
1. Health & Education/ F&ame= 7 ferear

2. Economic policy/ =ufd=® =ifa

3. Housing/ smam&a

4. All of the above/ ST &+t

Correct Answer :-

« All of the above/ 393 asft



8) Goalshelpto__ ./&&g__ ¥ #aa &<d gl
1. Communicate/ 9T F¥

2. Success/ TFA g

3. Work/ =14 &34

4. Motivate/ Sfa e

Correct Answer :-

« Communicate/ 9 F3A

9) Field work in social group work helps to acquire ./ AT TE F1F §
SEEIDH AT LA | T FLaT &

1. Knowledge/ it

2. Skill/ Frerer

3. Attitude/ wa=T

4. All the above/ 3T asft

Correct Answer :-

« All the above/ 3UI=F T4T

10) Development expenditure of the central government does include:/ =

T & e =T § QTERT graT &
1. Defence Expenditure/ T&T I
2. Expenditure on economic services/ AT HATsH 9T g aTAT 2T

3. Expenditure on social and community services/ STHTSE S ATHETAE SaTall 9% g aTar
=T

4. Grant to state/ <3t #T AqaE

Correct Answer :-

» Defence Expenditure/ &1 a4

11) The following are non-verbal communication:/ FifFa & ¥ Fi7 stenfeas g9

3?
1. Facial expression/ =¥ * g4-9T
2. Appearance/ fe@Tae/€aGT

3. Posture/ qzt1



4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ ST asft

12) Which of the following is not a symptom of Group Think?/ 37# & #i9, 998
e FT TF A7 TH1 57

1. Illusions of vulnerability/ srgferaar & 9w

2. Belief in inherent group morality/ s=af=2a aqg Afasar § e
3. Applying direct pressure to deviants/ o= & fe=fora 9 ATt a2 Hiem ama STeET
4. Self-censorship by members/ T&&T GTT ATH-ASIT (HF -HE<19T)

Correct Answer :-

« Illusions of vulnerability/ srfemaar % g9

13) Which one of the following is not a stage of team development?/ @8 &
I, T T T TF 920 761 52

1. Forming/ =T (HITH)
2. Deciding/ fAvtg
3. Adjourning/ =R T

4, Storming/ gTar

Correct Answer :-
« Deciding/ A

14) The following are the most effective ways of communication?/ 378 & %19
AT T I THATALATAT TLRT &2

1. Verbal/ errfea®

2. Non verbal/ #retfea=®

3. Written/ forfera

4. All of the above/ ST T+t

Correct Answer :-

« Written/ feifea



Social justice is the balance between ./ AT = & &= & oA
]

1. Individual’s rights and social control/ =af<F & srferrT<i s arariers A==
2. Society and individual/ 9Tt 3 =7f~<%

3. Fundamental rights and judicial system/ ®ifers stfaerTei si¥ =i 9=
4. Individual and family/ =f=F iz afiEm®

Correct Answer :-

« Individual’s rights and social control/ =f<F & sTfeeRTl 3fi¥ ATHTIST A=

16) Denotified Tribes are:/ ¥ S=Ta=T &
1. Ex- criminal tribes/ qa-smazrel Se=TTaAt

2. Untouchables/ #3971

3. Wandering Communities/ @111/ HHIT™

4, Artisans/ FTTT/faredt

Correct Answer :-

« Ex- criminal tribes/ q@-sTa2Tef STt

17) What are the objectives of social policy?/ amaTirs i * ST FAT 8?2
1. Social change/ amaTfors afyad

2. Social integration/ TTaTISIF THHTT

3. Improvement of quality of life/ Straw [ora<T # T

4. All of the above/ 3Td< T+t

Correct Answer :-

« All of the above/ 393 asft

18) Society is rooted in which concept?/ F9Ts & 4 & sraem<on & 87
1. Action/ Fr/faaT
2. Interaction/ sr=afsar

3. Roles/ sfa=1d

4. Culture/ 5a8+ (Feav)

Correct Answer :-



« Interaction/ sr=afsaT

19) Which of the following is way of communication process?/ 378 & &9, §91<
TFRaT T TF THI 3?2

1. One way/ UH-aTHT

2. Two way/ SI-a<sT

3. Three way/ fi9-av&r

4. None of these/ % & #IE A1

Correct Answer :-

« Two way/ ST-aTHT

20) Social policy is part of:/ gTREHATI___ FTATT I

1. Public policy/ Tame=r 7 farar

2. Economic policy/ suf¥e it

3. Political policy/ smama

4. Religious policy/ ITd<k HT

Correct Answer :-

« Public policy/ TaresT 7 forer

21) The basic objective of group work is __ ./ 998 T3 FT ST 3297 5|
1. Personality development/ =afxrea A=

2. Problem solving/ a9&aT g1 FTAT

3. Readjustment/ qaeHTIST

4. Remediation/ 319X

Correct Answer :-

« Problem solving/ #¥T 3T F¥A

22) embodies a team concept, is based on the principle of mutual
contribution by employer and employees./ , T S ATLTOT FT Tohe €9 &, 79T
TET=RT Ta FHATIAT T T8I TR & TG I e gl

1. Autocratic model/ Figer/Twa=T Aied
2. Custodial model/ wfoeefy aieer



3. Supportive model/ ST Aied

4. Collegial model/ sga/A==t Aige

Correct Answer :-

« Collegial model/ aga/F==t Afz

23) Forces affecting organizational behavior are:/ SSATcHF A H TATIAT FLA
T I B

1. People/ =t

2. Environment/ aaiazor

3. Technology/ st=nfrET

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ S7dw asft

24) Sociologist describes the term ‘group’ as ./ TETSIATE T ‘GHE aea &
*F &7 § RATIT FLd &

1. Collection of people/ =Tl F HaheA

2. People involved in organized pattern of interaction/ s=afaT & TWfST T § Horr A

3. People interacting at a place/ &t =1 9% sreafehaT ¥ ¥ Arm

4. Participation in a gathering/ et Tram/a e & 911 &9

Correct Answer :-
« People involved in organized pattern of interaction/ =af#aT % TsT e & o AR

25) Social policies deals with issues such as:/ s ot afe qEi &
qreTeera grdt gl

1. Poverty/ fRgmar
2. Poor housing/ @1 maTH Aa&dT
3. Disability/ ster<rar

4. All of the above/ 3Td T+t

Correct Answer :-

« All of the above/ 393 T+t



26) One of the following is NOT a feature of communication?/ 3% & &9, ¥4
&t T farorar wgt 32

1. It involves more than an individual/ =8% U & s7fde =7f~w omfea gra 8

2. It involves transmission of information/ & =T &1 FF AT 1T 2
3. It is not limited to the art of speaking/ 7g STa T FAT aF HITHT A5l §
4. It promotes good human relation/ 7§ 3= AT T¥=el Tl TLTAT AT &

Correct Answer :-

« It promotes good human relation/ I8 3= AT T2 Hl AT adT §

27) As per the Newman and Summer Communication is the exchange of:/
AT TF GHL F AT, AL T ATETH-TETH &

1. Facts/ a==i
2. Opinion/ #q
3. Emotions/ sra=ei

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ ST &sft

28) Social problem are treated with social reform and ./ TR THETH
T A THTS T TH GRERIEEICIE

1. Social legislation/ AT fAem
2. Social work/ aTHTRIF F14
3. Social science/ THTs fasT=

4, Social service/ |7 94T

Correct Answer :-

« Social legislation/ @marfsrs fEram

29) Good recording in group work should focus on?/ 99g F1d § IUH ATVAGT &l
I Ffvad gET ATRY|

1. Active organized/ It T2

2. Skill used/ T Hrerer

3. Group process/ HHg TiHaT

4. Members characteristics/ @&eat it fareraarstt



Correct Answer :-

« Group process/ Tqg TrHAT

30) You find it easy to trust other people:/ 37T AU X AT FIAT AHE ATAT &
1. False/ /@@

2. True/ @gt

3. Can't say/ &g &l &

4. None of these/ =a# & FIE 5l

Correct Answer :-

31) Programme in social group work is based on?/ GTHTN® ¥g &4 # HTAHA,
I YT AT gl

1. Interest and resources/ &~ T g9t
2. Interest and resources of the worker/ T &t == v daret

3. Interest and resources of the group/ @z it = Ud HaTL=T
4. None of the above/ 39%I<h § § #Is A8l

Correct Answer :-

« Interest and resources of the group/ &9z it == Ta HaTLAT

32) The process of making an expectation a reality is:/ 79T &1 TEqfashar a7 i
EIERIE

1. Brain-storming/ fe=me-ga+

2. Problem solving/ #9HIT g AT
3. Criteria/ @14

4. Goal/ @tzq

Correct Answer :-

« Problem solving/ a#&aT g1 F3A7

33) are distinct form of “Justice” in Indian constitution./
AT S # “}=a” F 9% €9 g

1. Social, Economical, Political/ \TaTiore, sfds o T+ d®



2. Social, Psychological, Emotional/ STHT, AATS=TS U ATa-TcHS
3. Social, Educational Judicial/ amarfsre, dfers ue =t
4. None of the above/ S92 & & #I< 751

Correct Answer :-

« Social, Psychological, Emotional/ aTaTiers, IHEsT=E Ua ATaqTeq®

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: Mwaferfea e 1 samE@s Teae 39+ 1+ o 1 sghawedt weai § a5t fawew
T FIT HL|

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STERTH T agq THTALTAT ST o6 TorT 7 FHharer FATATH HT GIOH TATT ATA HICHT L AHeA 1901 BT TR
AT &, T AATIHI 1 HeT § VT FRorfaat ot aaTt Fieft § S AT ¥ Sga< a0 39
Rafaat & oo § AT GETaHh-aTH AT TSTH HLAT, TAeTeT ST IEa< EANRT 6l ATaHT Ieqe
FHLAT, ST S THAAT T ATT AT, THET FIAT T STeAT 3 FATAH FT ARTILAT FLATI 39T TETAF
AT ATERT &7 STE 3T AUl TATAT 1 ST LT AT T WITdh [AATqTSH HT 0T HC
T &, T T, fhenfRey, e, 91, s w3 srue enfsas aviv &t 31 =7 &0 5
STEATIT FETAF ATHIIAT TAT T STTAT & AT QATToah STSLT & AT UH ATA <k oref I JATar 81 &
AT 99 €%F I ST 8, AEATTH ST H Tohd g ST AT T €ATT A qTAT Ag 1| TET ATAT ST &
o 75 et 3@ FT fiwd §, TS g7 F 3 T o1 | ST A581 & HE@d g Svg AToah Aq<L &
ST sraT & Rrama ST a9ar 8, 92 aTiRdl & U 3o ggrasd it saeds g1 ATg S
ATIAT Tl 81 AT AG1, A T Ig § (o =TSt & saar drevr fordae A ST aear § a1 781 aF
Tg g T srfemmr & ™ea tfers s &1 ITANT G, SITANT HaAT Ia«t g e THTALATAT g1 STU T




S YTTOITSAr T A==, St AT THT & 7 STeATI FETah TR 6 ST T6qa FL < Sva
THAAT ATHTT g1 ATAT g1 AT TgTaeh ARt VHT aqeit ofix affeerfaat &1 fasew yara w3l §
g weaT | TEqa Al AT ST ThdT g1 Fgl gL TATT I AT (A1 TEAHT T =1 e | 487
ATAT ST THAT 5, T et Tt A F TR0 I gL TRLAHT HT Gt S A ier § @71 1 96aT &

Why should the teachers create certain conditions in the class-room:/

AEATIHT T FeAT § Fg FeAfaat w1 AT wT =1igw?

1. that may improve learning/ I7# Af3TH & &M< g7 ThaT §

2. that may improve teaching/ 378 <399 | T g1 Tl 5
3. that may improve students/ 37€ =TT § 412 27 9haT &
4. that may improve teachers/ 39 T&ITIHl H LT &7 TFdT &

Correct Answer :-

« that may improve learning/ 37 «IfaH § U g1 95T

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: Mwaforfea e #1 sam@s Teae 3a+ 1+ ¥ T sglawedt weai & a5t fawew
& FAT HL|

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STERTH T agaq THTALTAT ST o6 TorT 7 FHharer FTATH HT GIOH TATT ATA HICHT L AHeA 101 BT TR
AELTF &, T AATIHI &1 HeT § Vet Ryt ot aart Fieft § S ATeNTH ¥ Sga< a410) 39

Rafaat & o § AT GETaHh-aTH AT TSTH HLAT, TAeTeT ST IEI< gART 6l ATaT Ieqe
FLAT, ST S THAAT FHT ATT AT, THET FIAT T STeAT 3 AT FT ARILAT FLATI 39T ETAF




AT ATERT &7 STH 3T AUl TATAT 1 ST Y- AI1 T AITdw [AATqTSH FT 0T HC
T g, I T, fhenfiey, ami=, 31, @ ¥ = e Qrrfeas qoi &l 319 94T a| 9«
TEATIT TETAH ATHIAAT AT T STTAT & AT QATToTh STSLT & AT TH ATk oref [ JATar 81 &
AT 99 €%F T ST 8, AEATTH ST H Tohd g ST AT T €ATT A qTAT g 1| THT AT STAT &
& 75 Rt 3@ w2 fiwd §, TS g7 F i T 1 | ST A581 F HE@d § Sve ATeah Aq<el &
ST ST & REmaT AT 9ar 8, 98 IIERAT & (70 397 G qTHUAT AaeT® &1 978 SUIh
HTIAT Tl 81 AT Agl, A9 Yo Ig g Fo Rt & sa=r drevr e frar s aear € ar a8 a=
Tg g T rfemm & ™ea stfers s &1 ITANT G, SITENT HasAT Iat g STars THTALATAT g1 STUT|
SR ATl Y A, St AT YT S o sreATae "gTas iy F IiRU Teqa A X S
THAAT AT g7 ATAT g1 AT TgTaeh AT UHT Fqait ofie qiertaat &1 fashew Yo Fdl §
e 6T | Yo Al AT ST ThdT &1 Fgl gL T I AT (=1 Tah=T 7 s weq & 481
ATAT AT FHaT &, T TRt St Frdarm F ST 39 T TG0 67 SIEr dF srater § @r 97 96dv g

Which conditions should the teachers provide?/ si&amasi &1 ®iF-d1 Rafaat yam=

FAT ATRT?

1. teaching aids/ &I FETEF ATAREAT

2. creating rivalry/ Sfaeaet &t 9TaaT Ieae FHAT
3. co-operation/ TTEIT AN sl ATAAT ST FLAT

4. All of the above/ 3T T+t

Correct Answer :-

« All of the above/ 393 T+t

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: Mwaferfea e 1 sam@s Teae 3a+ A+ o T sglawedt weai § a5t fawew

T FIT H

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides



provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STERTH T agq THTALTAT ST o6 TorT T FHharer FTTTH HT GIOH TATT ATA HICHT L AHeA 101 BT TR
AT &, T AATIHI &1 HeT § VT FRorfaat ot FaTt Fieft § S AT ¥ Sga< I410)1 39
Rafaat & oo § AT GETaHh-qTH AT TSTH HLAT, TAeTeT ST IEI< EANRT 6l ATaHT IeqeT
FLAT, T S THAAT FHT ATT AT, THET FIAT T STeAT 3 AT FT ARTIAT FLATI 39T TGTAF
AT SATERTT &7 STE ST Tl TATAT 1 ST LT AITAT 0T WITdeh [AATqTH HT 0T HC
& 8, T Far=, frenfRew, gt 91, s i = srue enfsas aviv &t 19 a7 &1 S
STEATIT FETAF ATHIIAT TAT T STTAT 3 AT QATToah STSLT & AT TH ATA <k oref € JATar 81 &
AT 99 €%F T ST 8, AEATTH ST H T g ST AT T €ATT A qTAT Ag 1| TAT AT STAT &
5 78 it 3@ FT figd §, TS g7 F 0 T a1 | ST q581 F HE@d g Svg AToah AL &
ST sraT & Rram ST a%ar 8, 92 aTiRdl & U 39T ggrasd it saed® g1 A1 S
HTIAT Tl g1 AT Agl, A9 T Ig g T Rt & sa=r drevr forvee frar S aear § a1 981 a7
Tg g T srfemmr & ™ea srfers s &1 ITA0T G, SITANT SasaT Ia«t g e THTALATAT g1 SITUs T
S YTTOITSAr &7 A==, St AT UHT & o7 STeATae g TR 6 TRU T qa A T Sve
THAAT AT g1 ATAT g1 AT TgTaeh ARt UHT aqait ofix qiferfaat &1 fashew Yo w3l §
Sre 6T | TEqa Al AT ST ThdT &1 Fgl gL ST I AT (AT TEAAT T =1 e | T80
ATAT ST THAT 5, T et Tt s 3 STT 39 L TeLAHT HT Gt o Aaier § @71 1 96aT &

Visual aids make learning:/ 383 9g1¥® QTHAT SITENTH &l FATAT 81
1. Boring and dull/ == T $ier
2. Concrete and meaningful/ 31 i< sT2qur

3. Irritating and illogical/ ETeT ITIs F3A ATAT T AT

4. None of the above/ ST & & #E A2}

Correct Answer :-

« Concrete and meaningful/ 319 sfiT sr2iqut

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: fawaferfera werter it earaga® Tadhe 39+ A= f2F 77 sglaswedt gei § w21 fasweq
T T HL|

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some



verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STERTH T Tgq THATALTAT AT o6 ToIT T et FATETH HT GH TATT ATA HILHT L THeATH] BT TN
MMAAF g, AT ALATART HI HeAT § AT Rt T JATT ST § ST AT T Iga< JAT4N 39
Rt & enfarer & sreamae agras-araiEt Yo w3AT, Tere? i IeeaX aganT £ 91T e
FLAT, YT S THAAT HT FATT IAT, THHT FHLAT AT SIEAT ST ATERTH HT AWTILAT FLATI F9F TETAH
AT SAfERTT T ST 3T STl aATdY €1 T Rig- i fari v Wifaw fHeraarsi w1 quie w7
THhd 3, I AT, Thentiey, AT, AT, AE X = srae ATfeash quI T 316 a7 &3l &
FLATY ASTAH ATHRIAT TTNT T SATAT § T ATFoxh SITQST & AT TH SATqwh ¥ [ AT gl I
AR 99 TF 97 ST §, AEATIS ST HT Gohd & S A1 T ATT A FTeAT Tai| THT /AT ST 8§
o g Freamff 3o w7 dea €, 7= 7 52 3 7= asal A1 S aeat F e § 372 ATfeas Aqen &
ST ArET & @ ST aar 8, 9 ST dl & [0 397 9ga® AT saed® gl a1 SUIh
HT=IAT G5l &1 AT A, 8« Te+ 98 § T Rrentiat § sanr e e frar s aar g av 98 a=x
Tg & o arfanm & forerar srfers st T SU=T ST, STT8RTH SasT SaT gt STfers TTaermel g1 S|
ST STTOTTSN T A=, STt AT THT ST 3177 STEATIT TETIF AT & TIT TEd FLA T 37
THAAT SATETH g1 STTAT gl AT g QT Vel Fegat i aifRafaat #1 fFFes ya+ Fdt §
2 eaT | TEqa Al AT ST ThdT g1 Tl gL ST I AT (A1 TEA=T T =1 e | T80
FATAT ST FhaT g, I TRt ST FTAHA F ST I T T FT GIET AT Aty § @7 ST 9ohdT 2

What belief is there regarding students?/ fR=fi=i & avava & F47 AT7IQqT TAorq &2
1. Some are eye-minded/ & 3@ FT THAT &

2. Some auditory-minded/ FE 99 FT 99Ad &

3. Some verbal-minded/ F= a1 ¥ 0T &

4. All of the above/ ST a+T

Correct Answer :-

« All of the above/ 393 T+t

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: MwaferfEa e 1 sam@s Teae 39+ A+ o T sglawedt weai § a5t fawew
T FIAT HL|

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding



learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STENTH T Tgq THTAATAT TATH o TIT T Faer ATATH FHT T TATT qTA FILRT S TheA 10T BT TTRT
MMAAF g, T AT I HedT | vt Rafaat ot a9 et § S Tf8nT &t Sga< aa1d| 39
Rafaat & ol § AeaTae TEras-aTHET TIT9 FEAT, TAeqel i¥ T3Ea< TgaT il ATaHT IeTeT
FHLAT, YT S ARAAT HT AT IAT, THT HIAT AT SIEAT ST ATERTH HT AWTILAT FLATI F2F ETAH
AT ATERTT &7 19 3 STl FATA §1 ST A= A 6t Wifas fAaaarst w1 quid w3
T g, I FAar=, Thenfiey, A=, 7, @ ¥ = e QrTfeash U &l 519 a7 a3| 7«
FEATIT TETAH ATHIAAT AT T STTAT & T AT SIqRLT F AT UH ATk orf [ JAmar 81
AHHTIAT 99 €% I g1 8, AEATTH ST HT o g ST ATAT T AT A qTAT Al THAT AT SATAT &
& 75 et 3@ T fiwd §, T g7 F 0 T a1 I ST q581 F Hr@d & Sve ATfeah Aq<el &
ST a1 & @ ST a6ar 8, 9 STl & [0 387 9ga% QT saeds g1 a7 SIIh
HT=IAT T3t 31 AT AT, 19 T97 78 g 6 FHrentiat & gaar fvewr Rrdes frar s awar & a1 981 a=x
Tg & T famme & Sea srfers SiTi T SUANT §TT, STTERTH HARAT SAAT g STTeh THTALTSAT g1 STUIT|
I ATt Y =, St AT U S s sreATae "gTas iy F IiRU T F T SR
THAAT STETH &1 STTAT g AT g% QT VT Fegat e qireafaat &1 foFeT T+ Fdl 5
g 8T & TEqA Al (hAT ST ThdT 8| Fgl gL TITH I AT (=1 T2Li+4T T = Fe7 § 751
FATAT ST qhaT &, I TRt ST HTAHA T I T TG FT GIET AT At § @7 ST T T

The abstract notions become easy to understand when they are presented
through:/ s TSt T % ST TEIT FLA I g GHAAT AT g1 14T &l

1. Motion pictures/ s=f==t

2. Still picture/ o ==t

3. Rotating picture/ urasiier ==t

4. None of the above/ ST & & #IS g1

Correct Answer :-

« Motion pictures/ F=tt=r=t

6)



DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: et Terer it eqTqa® TeHhe Iq A9 faF TF qgiaswedt Te71 § agi fasheq
T =TT HL|

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STENTH T Tgq THTAATAT TATH o6 ToIT T FaT AT FHT T TATT qTA FILRT S The 10T BT TTR
AELTF &, T ALATIHI &1 HerT & Vet FRorfarat ot aat Fieft § S ATew ¥ Sga< a=10) 39
Rafaat & oo § AeATI GETah-aTH AT YS9 HLAT, TAeTeT si¥ TEa< TgART il ATaHT Ieqe
FHLAT, YT S ARAAT HT AT IAT, THT HIAT AT SIEAT S ATERTH HT AWTILAT FLATI F2F ETAH
AT ATERTT &7 STE 3T ATl FATA §1 ST Y- HIT T AITaw [AATQqrsi w7 0 HT
T §, I o=, fhenfew, e, =1E, g oix = sae enfeas auia &t 319 o471 &1 a0
AT TETAH ATHIAAT AT T STTAT & AT ATToTH STRLT & AT UH ATA <k oref [ JATar 81 &
AT 99 €%F T BT 8, AEATTH ST H Tohd g ST AT T TATT A ATAT g 1| THT FTAT SATAT &
& 75 Rt 3@ T fiwd §, T g7 F 0 T 1 | ST q581 F H@d § Sve ATeah Aq<el &
ST ST & @ A7 96T 8, I IIRAT 6 (70 39T G QAT AaeT® g1 978 SUIh
HTIAT Tl g1 AT A51, A9 Y& Ig g o Rt & sa=r drevwr raew frar s aar € a1 a8 a=
Tg g T srfemm & ™ea stfers s &1 STANT g, SITeNT HasAT Ia+t g STfars THTALATAT g1 JTUT|
I ATt Y =, St AT YT € o sreATae "gTas iy % IRU weqa F X SR
THAAT SATETH &1 STTAT g AT g% QAT VT Fegat ik qrreafadt &7 fodeq T+ Hidl 5
e w67 | TEqa TGl AT ST TRl &1 Fl gL T U AATq (a1 Taef= T 7 s w1 # a8t
HATAT ST qHAT &, I TRt AT HIAFHH 6 ST I T TG FT GIET dT At § @7 ST g6 T

What can be use instead of exhibition?/ Tgsi=t & €79 9% FAT TIRT FFAT ST THdT 872
1. Radio/ ¥f==

2. Puppet/ Faqaett
3. Television/ =hifas=



4. Newspaper/ FHT=ETZ-99

Correct Answer :-

« Television/ Z=fifas

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fa3sr: fawaferfera werter it eamqE® Tedhe Iq+ A= fad 77 sglamedt geqi § a5t fasweq
T FIT A

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound. /

IFRAT AT F AT T 90T F T ATHRIAT STAGAT HIEAH g| SHhT Tg AATTEH g1 FIHIT gL ATh
IR A2 whew it I Taar &, 918 ag F=1 «ft snf¥ gusgfy 1 2n o afa i qrewrermar
ST QT g1 a9 1917 | VAT qr=T AT AT T3 I=LAT THILOI & ATeqH & q8 GH1 92 forear < <w
FHAT g WA | [ATS 1927 § TS | IgaT LT TAT TATIUT AT AT| SETAT AT T FAHAT |
T gorr 3fix ot ® I8 1936 & 1iud gaml AR # itwr i3 =T (AIR) STt & a7eqw &
AT waTor fonaT STaT 81 fer=rTerr TETer T SE 1937 H FArshar ° e ATl a9 9, ey yawr
H gieg grat o T ) srferrier AIR T et & forw Sfers wrdsha Ta1iid Fa &1 =91 A1eaw
wag frearfast, ST, sl F AT % T & T aga THEere g1 I8 Jreh,
FETAAT, TR, @A FHATATA, FTerF THTAT ST ATrF FTAFHAT 6 TATL % ToIT TH GG A7 g
AT Areaw ergdY i ATHr, AT TRl A AR F1 XA FEFH AT 9 W ot o 9w
T ST € ST erTfeaes 99T & 1T 1fars S g1 T FTARHAL 61 ATAF THTTATAT 9T & {7 3747
g, €fta T farw eafs wrat &1 ST 6T ST 9hat 81 3 T ieh el & ATedH § g9 = aar
H Weg FLAT 3

In which year was it thought that mass education can be achieved through
radio broadcasts?/ & a9 THT H=T AT AT T I=AT THTXON F AT6qH F 92 G901 92 frer &
ST AT 572

1.1917

2.1927



3.1937

4. 1947

Correct Answer :-

« 1917

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: Mwaferfea e 1 sam@s Teae 39+ A1+ o 1 sglawedt weai § a5t fawew
T FAT HL|

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound. /

IFRAT AT F AT Y 90T F U ATHRIAT TAGAT ATEAH 5| SHhT Tg AATTEH g1 FIHIT gL AT
IR A Tl i &RFa wEar 8, A1 a8 € ot sufdw o v gn 3o i i} arenriersnar i
F ST fororar g1 a9 1917 & VHT = 74T AT 36 IR=AT THILON F ATeAH  q° GHI 97 freav < v
T gl AT | AT 1927 & T H qgAT USAT TELAT TATIAT G AT| SRAT (AT TAT Feaanam |
TTIOT g i< faeeft # 98 1936 # =oTiuq gem W ¥ 3t 341 =41 (AIR) qaTst & #reqw 9
e saTr fonat Strar ) e T=Ter #T s 1937 § werearn € gI o9 a9 9, ey e
# gieg gt o T 81 Afaranier AIR w9 A=t & forw dfers srdwa yaria F3d g1 J=ar 7reqw
wiarg fArerttasl, asTaei, SAgEHRl & AT & TAI & 7T Tga TATaqT gl I qTea,
FETAAT, TR, TF FHTATA, FTerd THTAT ST ATerF FTAFHAT 6 T F T TF G995 q1e97 g
IFRAT ATEAW AT ST ATHI, AT SATH | ATRIT 1 AT FIEAHT AHAT 9 U Ao 9 dame
T ST € ST erTfeas 99T & orT orfars SUgh g1 1T FTAFHAL H1 ATAF THTIATAT 977 & o 374
gate, Tq Ua T eqfer THTal 7 TANT RAT ST TahaT 81 T TohedTeh eaier o ATEAH 9 g9 =T aam
# Weg HLdt 3

The first radio station was established in Bombay in:/ | q¥as § ggdT
IFRAT e T ga A

1. June 1947/ A 1947

2. July 1927/ =T 1927



3. May 1927/ 5% 1927

4, June 1927/ [ 1927

Correct Answer :-

o July 1927/ S@ts 1927

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: MwaferfEa e 1 sam@s Teae 3a+ A+ o T sglawedt weai § a5t fawew
T FIT HL|

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound. /

IFRAT AT F AT Y 90T F T ATHRIAT TAGAT HIEAH 5| THhT Tg AATTEH g1 FIHIT g ATh
IR A Tl #i &aa wEar 8, A1 a8 FEt ot st o 1 gn 3o i i arenriersnar i
F ST fororar g1 a9 1917 & VHT = 74T AT 36 IR=AT THILON F ATeAH  q° GHI 97 freav < v
T gl AT | AT 1927 & T H qgAT USAT TELAT TATIAT G AT| SRAT (AT TAT Feaanam |
TTIOT g i< faeeft # 98 1936 # oTiuq gem W ¥ 3t o1 =47 (AIR) qaTst & #reqw 9
e sETr fonat Strar ) e T=Ter T sE 1937 § S € gI o9 99 9, A=y e
# gig grdt o T 81 Afaranier AIR w9 A=t & fore dfers srdwa yaria F3d g1 J=ar 7reaw
wiarg fArerttasl, asTaei, SAgEHRl & AT & TAI & 7T Tga TATaqT gl I qTea,
FETAAT, TR, TF FHATATA, FFerw THTAT ST ATers FTAFHAT 6 T * T TF G995 q1e97 g
IR areaw agt S ATHI, AT SATRT | ATRNT g1 =TT FTEAHA AHGIL 9 UH i 9 49
T ST € ST erTfeas 99T & forw o1fars SUgs g1 T FTARAL H1 ATF THTTATAT 979 & o 374
gate, Tq Ua T eqfer THTal 7 TANT RAT ST TahaT 81 T TohedTeh eaier o ATEAH 9 g9 =T aam
# Weg HLdt 3

In India, radio broadcast is done through:/ wT<a & =4 y&mor F ATEAT
T StTaT &

1. All India Reporters/ s fear Rarer
2. All India Researchers/ @iter =T o=



3. All India Readers/ == =4 =
4. All India Radio/ siter steaT ¥f=ar

Correct Answer :-

« All India Radio/ @ier =T ¥f=ar

10) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfea Terer it eaTga® Tehe 39 A= faF 79 aglamedt Teq1 § g1 faweq
T FIT HL|

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound./

IFRAT AT F AT Y 90T F U ATHRIAT TAGAT ATEAH 5| SHhT Tg AATTEH g1 FIHIT gL AT
IR A Tl #i &aa wEar 8, A1 a8 FEt ot st o 1 gn 3o i i arenriersnar i
F ST fororar g1 a9 1917 & VHT = 74T AT 36 IR=AT THILON F ATeAH  q° GHI 97 freav < v
T gl AT | AT 1927 & T H qgAT USAT TELAT TATIAT G AT| SRAT (AT TAT Feaanam |
TTIOT g i< faeeft # 98 1936 # =oTiuq gem W ¥ 3t 341 =41 (AIR) qaTst & #reqw 9
e saTr fonat Strar ) e T=Ter #T s 1937 § werearn € gI o9 a9 9, ey e
# gig grdt o T 81 Afaranier AIR w9 A=t & fore dfers srdwa yaria F3d g1 J=ar 7reaw
wiarg fArerttasl, asTaei, SAgEHRl & AT & TAI & 7T Tga TATaqT gl I qTea,
FETAAT, TR, TF FHTATA, FTerd THTAT ST ATerF FTAFHAT 6 T F T TF G995 q1e97 g
IFRAT ATEAW AT ST ATHI, AT SATH | ATRIT 1 AT FIEAHT AHAT 9 U Ao 9 dame
T ST € ST erTfeas 99T & forw o1fars SUgs g1 T FTARAL H1 ATF THTTATAT 979 & o 374
gate, Tq Ua T eqfer THTal 7 TANT RAT ST TahaT 81 T TohedTeh eaier o ATEAH 9 g9 =T aam
# Weg HLdt 3

The Radio medium is very effective for broadcast of lectures by eminent:/

IR AW g & TSI % T & 7T aga To97a Tt 21
1. Educationists/ forarfast
2. Scientists/ =Tt



3. Historical statements/ Ufagrte fEaeon
4. All of the above/ ST a+T

Correct Answer :-

« All of the above/ 393 T+t

11) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfea Terer it eaTga® Tehe 39 A= faF 79 aglamedt Teq1 § g1 faweq
T FAT HL|

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound./

IFRAT AT F AT Y 90T F U ATHRIAT TAGAT ATEAH 5| SHhT Tg AATTEH g1 FIHIT gL AT
IR A Tl i &RFa wEar 8, A1 a8 € ot sufdw o v gn 3o i i} arenriersnar i
ST Farerar g1 aF 1917 & VHT Fr= 74T AT 36 IR=AT THILON F ATeqH ¥ q2 GHI 97 freav < v
T gl AT | AT 1927 & T H qgAT USAT TELAT TATIAT G AT| SRAT (AT TAT Feaanam |
TTIOT g i< faeeft # 98 1936 # =oTiuq gem W ¥ 3t 341 =41 (AIR) qaTst & #reqw 9
e saTr fonat Strar ) e T=Ter #T s 1937 § werearn € gI o9 a9 9, ey e
# gieg gt o T 81 Afaranier AIR w9 A=t & forw dfers srdwa yaria F3d g1 J=ar 7reqw
wiarg fArerttasl, asTaei, SAgEHRl & AT & TAI & 7T Tga TATaqT gl I qTea,
FETAAT, TR, TF FHTATA, FTerd THTAT ST ATerF FTAFHAT 6 T F T TF G995 q1e97 g
IFRAT ATEAW AT ST ATHI, AT SATH | ATRIT 1 AT FIEAHT AHAT 9 U Ao 9 dame
T ST € ST erTfeas 99T & orT orfars SUgh g1 1T FTAFHAL H1 ATAF THTIATAT 977 & o 374
g, T Ua T eqfer THTal 7 TANT RAT ST TahdT 81 T TohedTeh eaier o ATEAH | 397 =T a1
# Weg HLdt 3

Radio programs are generally prepared on topics which are more suitable

to:/ IR FEAFHA WA UL TH A=t ux 9 7w S & s & T arfares S B
1. Verbal communication/ «rrfess =TT

2. Written communication/ ferfea g=me



3. Visual communication/ 397 91T

4. Printed communication/ {f&d §=1C

Correct Answer :-

« Verbal communication/ etfess =%

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: fwaferfea Terer it eaTga® Tehe 39 A= faF 79 aglamedt Teq1 # dgi faweq
T FIT HL|

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound./

IFRAT AT F AT Y 90T F T ATHRIAT TAGAT HIEAH 5| THhT Tg AATTEH g1 FIHIT g ATh
IR A Tl #i &aa wEar 8, A1 a8 FEt ot st o 1 gn 3o i i arenriersnar i
F ST fororar g1 a9 1917 & VHT = 74T AT 36 IR=AT THILON F ATeAH  q° GHI 97 freav < v
T gl AT | AT 1927 & T H qgAT USAT TELAT TATIAT G AT| SRAT (AT TAT Feaanam |
TTIOT g i< faeeft # 98 1936 # oTiuq gem W ¥ 3t o1 =47 (AIR) qaTst & #reqw 9
e sETr fonat Strar ) e T=Ter T sE 1937 § S € gI o9 99 9, A=y e
# gig grdt o T 81 Afaranier AIR w9 A=t & fore dfers srdwa yaria F3d g1 J=ar 7reaw
wiarg fArerttasl, asTaei, SAgEHRl & AT & TAI & 7T Tga TATaqT gl I qTea,
FETAAT, TR, TF FHTATA, FTerd THTAT ST ATerF FTAFHAT 6 T F T TF G995 q1e97 g
IR areaw agt S ATHI, AT SATRT | ATRNT g1 =TT FTEAHA AHGIL 9 UH i 9 49
T ST € ST erTfeas 99T & forw o1fars SUgs g1 T FTARAL H1 ATF THTTATAT 979 & o 374
gate, Tq Ua T eqfer THTal 7 TANT RAT ST TahaT 81 T TohedTeh eaier o ATEAH 9 g9 =T aam
# Weg HLdt 3

What images are created through sound?/ &af= F ATeq® § F9-8 == a97¢ {19 82
1. Written images/ forfera ==
2. Oral Images/ @itfe= ==

3. Visual Images/ 397 =



4. None of the above/ SY%I<F & ¥ #Is g1

Correct Answer :-

« Visual Images/ 397 ==

Topic:- Grad_Child Care and Education

1) Which is/are child welfare schemes?/ fFlg # q S 910 ST AIST 2782

1. Rashtriya Bal Board/ I 1T 91 Sl

2. Integrated child development Services/ qHId 91 f[aHT JaT o
3. Rashtriya Bal Niti/ & &Td Aifd
4. All the above/ IWRIad Tt

Correct Answer :-

« All the above/ SWRIad g+t

2) Life vitality of child come in which month?/ m%iﬂﬂﬂmaﬁﬁ?ﬂmﬁ
3Tel 82

1. 7 Months/ 7 HIg
2. 5 Months/ 5 HIg
3. 6 Months/ 6 HIg

4. 4 Months/ 4 HIg

Correct Answer :-
« 7 Months/ 7 Hig

3) Blind, Deaf & dumb come under which category/ ﬁﬂﬁ?, T’f@ﬂ'&ﬁm goft A
\?rI'I%%:

1. Physically handicapped/ SRR faaaimTar
2. Mentally handicapped/ AFRI® fd& il
3. Socially handicapped/ SIS fadwaiTar

4. Emotionally handicapped/ TGS fapaiTar

Correct Answer :-

« Physically handicapped/ RRIR® fadmairdm



4) What is essentials of socialization?/ W%WWW%?
1. Sufficient opportunities/ U 3aTR

2. Motivation/ URUT

3. Trail & Error/ Y19 T4 Yd

4. All of the above/ SWRIe GH

Correct Answer :-

« All of the above/ IWRIad IH!

5) Educational Provision for children is:/ aaﬁm*ﬁf&mma%rm%
1. Administrative level/ IR S TR

2. Educational level/ QP TR W

3. Other Provision/ 3= UTdeTd

4. All of the above/ SURIad Tt

Correct Answer :-

« Administrative level/ URINES TR

6) Aims of Early Childhood education is:/ Jd Urdfre e &1 3e=a 1 giaT &

1. Development of Interest in learning/ TR & Ui =T S &A1
2. Development of Aesthetic sense/ i<d diY &1 lAHr™

3. Development of Creativity/ Wﬁﬁw

4. All of the above/ JURIK GHt

Correct Answer :-

« All of the above/ IuRlad g

7) Word Environment means:/ Uaia0l TG &7 31 &-

1. Around All/ IR TR® I

2. Mask/ H@ET
3. Influence/ UHTad

4. All of the above / IWRITd gt

Correct Answer :-



. Around All/ IRl @R® &

8) What are the causes of Hearing Impairment is:/ YqUT SIY F HIRT T g1 &
1. Congenital Cause/ SHGITd R

2. Hereditary Cause/ 3{TdifRId HRUI

3. Physiological Cause/ e HRU

4. All of the above/ SWRIad Tt

Correct Answer :-

« Physiological Cause/ e BRU

9) What are the theories of learning? / ¥I@A & Ry w1 84 &:
1. Theory of trail & Error / Ua=d 3R Yd &1 Rigr

2. Insight Theory/ %Wﬁl@?

3. Imitation Theory/ &WWW

4. All of the above/ IRlad g4t

Correct Answer :-

o All of the above/ IRIFd gt

10) Among these which are the principal of development:/ 9 9§ P faerg &1
R @:

1. Uniform pattern/ IHH UfdH=
2. Correlation/ IRER IdY
3. Dissimilarity/ f=Tar

4. All of the above/ IWRIad g+

Correct Answer :-

« All of the above/ SURIad i

11) What is the functions of UNICEF: / g% &1 HTd &=l 82
1. Child Nutrition/ TR areor

2. Child Health/ I W@

3. Child Education/ fRrg] fRef



4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad gt

12) What is necessary for Bones & Teeth:/ Eé’f &ﬁTE{iT-[a?ﬁI'EW W%—
1. Calcium/ HaREH

2. Sodium/ Hifgaw

3. Vitamin/ fdeTfiE

4. Iron/ F?I%T

Correct Answer :-

« Calcium/ parR[H

13) What are the special facilities for orphan children?/ 314 §=i 8¢ fa=Iw
gfaurd «r 82

1. Pre-School Programme/ ujwm
2. Reading Improvement Programme/ W{[W@ITSFH
3. Comprehensive Programme/ SaT9& ol

4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ IWRiad gt

14) Orphan homes are ./ ST '\ﬁﬂ'l'l-;}?l'cﬁ%
1. Institutional Services/ TRITHD YaTU

2. Non Institutional Services/ 3ERITHS JaTt

3. Institutional & Non Institutional Services/ TRIH® Td ARITHS JaTQ

4. None of these/ 378 I ®Is Tl

Correct Answer :-

. Institutional & Non Institutional Services/ YRIH® T4 HRITHPD JdTU

15) Which circumstance are necessary for main streaming of exceptional

children?/ fafree sTa®! & g7 uRT # Wi #4 & o smazas &= ufvfRuat @ 82



1. Integrated Education/ gafed fRuem

2. Educational Planning/ f2rem faieH

3. Classification of Responsibility/ JRGIAG] DT BT
4. All of the above/ IWRIE G4

Correct Answer :-

« All of the above/ SURIad Tt

16) Integrated education plan was startedin____ ./ JAfed fRem g &t
# ur fooar mar ot

1. Year 1981/ ¥ 1981

2. Year 1982/ 99 1982

3. Year 1994/ ¥ 1994

4. Year 2001/ 9% 2001

Correct Answer :-

. Year 1981/ 9§ 1981

17) Which is not an infectious disease?/ fF= A ¥ I Jpa® T 78 82
1. Typhoid/ TAWISS

2. Cough/ PG Rl

3. Fever/ §UR

4. AIDS/ TgH

Correct Answer :-

. AIDS/ T&9

18) AIDS affected person have stages./ UgH Hhiia aAfad &
3qwT giell 8

1.6
2.4
3.5

4.2

Correct Answer :-



19) Factor responsible for plateau of learning:/ HRaq & USR & SR
1. Polluted Environment/ ?;{Iﬁ?l?ﬂ?lﬁw

2. Less IQ/ g@a@rmweﬁ

3. Not Paying Attention/ &1 9 &l

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

20) Analytic and synthetic approach are related to:/ fa=auur 3fiv JzAwor IUTH
frod Tt 3-

1. Speech Reading/ HINT dld-

2. Auditory Training/ #dul UfR&or

3. Vocational Training/ SaTadTd HiRIefor
4. Speech training/ aroft ufRi&ror

Correct Answer :-

« Speech Reading/ HINI did+

21) After birth what are the various physical activities child do?/ 51 & U=aTd
g Frr=fafaa o @ a4 F T ifve framt ewar 32

1. Heat Regulation/ dmd TR =01
2. Develop Immunity Power/ I UfcRIY® &Hal &1 famr
3. Digestion/ Ura febdr

4. All of the above/ SURIad Tt

Correct Answer :-

« All of the above/ IuRlad g

22) What is the age of Pre-Gang?/ d cIdit 3t 3Tg &1 gId! 82
1.3 to 6 Year/ 39 6 9T

2.2to 5 Year/ 29 59Td



3.6 to 10 Year/ 6 ¥ 10 ITd

4.6 to 12 Year/ 69 12 9@

Correct Answer :-

.« 3to 6 Year/ 3¥ 69d

23) 3-6 Year Age in called:/ 3-6 94 ®! 3T Hgard &:
1. Pre-Gang Age/ Ujaiﬂ

2. Gang/ aren

3. Friend Gang/ IEERAN

4. Group/ 9Hg

Correct Answer :-

« Pre-Gang Age/ qﬁaﬁ[

24) Fetus life depends on:/ nﬂwﬁgwaﬁaﬁﬁrmmi
1. Fallopian tube/ g AferbT

2. Placenta/ 3fUx1

3. Nervous system/ ¥ HUSA

4. All of the above/ SWRIad Tt

Correct Answer :-
« Placenta/ 3UT

25) In Infancy girls child weight is than boy./ AMTRT A FIABT PT UIR
e gare

1. Less/ ®H
2. More/ Sdlal
3. Equal/ SRR

4. None of these/ @ﬁ@[ﬁ'ﬁ‘ﬂ‘{ﬁ

Correct Answer :-

e Less/ dH



Which is the stage of Speech Development?/ HTHT f[d&T &t emrrﬁaﬁ——wﬁ%?
1. Pre Speech form of communication/ Jd JIF0T

2. Speech form of communication/ dRdfdd HIST &t Sfrafaaar

3. Both of these/maﬁazﬁ

4. Defective Speech/ GIeYUl HTST

Correct Answer :-

. Both of these/IURI G

27) What is the process of socialization?/ ITHTITH ST Y Ufehar T gidl 82

1. Learning to behave in socially approve ways/ STHING 0 ¥ 3gA¢d HdgR B ARG
2. Playing approved social roles/ meﬂﬁﬁmaﬁﬁw

3. Development of attitudes/ BIEINED &rf\uqﬁu‘rmﬁm

4. All of the above/ SURIe GH

Correct Answer :-

« All of the above/ SWRIad Tt

28) Maturation & learning are the conditions responsible for . / uiuaadn

aYUT HrE=r g gt & Savegrdt ufifRuferar 8
1. Cognitive Development/ BRIBIRCACEAR

2. Emotional Development/ FaTi® A&
3. Creativity Development/ golHId® fadbTd
4. None of these/ éﬁﬁ@ﬁéﬂ_{ﬁ

Correct Answer :-

« Cognitive Development/ BRIBIRCACEAR]

29) 2 to 6 years of age is identify as:/ 2 ¥ 6 TS B! T YGATHT SITdT B:
1. Early childhood / ij

2. Childhood/ STcTdR{T

3. Adolescence/ fHRIRTaRI

4. Adulthood/ UTeTaRIl

Correct Answer :-



« Early childhood / Jd STcuTa=T
30) What is the full form of NIPCCD?/ NIPCDD T [RT -1 & 3?

1. National Institute of public health and child development/ I SHEAN Ud &Td
T TR

2. National child policy/ &I &Te ifd

3. National child Board/ 14 91 818
4. None of these/ 370 § B8 gl

Correct Answer :-

. National Institute of public health and child development/ ¢ THEINT U4 &Tdl
[CEARRIIE]

31) NIPCCD is a :/ NIPCCD ®IT g -

1. Government Organization/ TRHRI TS
2. Private Organization/ TRERBT TG

3. Autonomous Organization/ ¥Id 64

4. Semi Government Organization/ TP I TS

Correct Answer :-
« Autonomous Organization/ WA T3

32) What is the characteristics of Special Education?/ fa=iw fierm &} faxiward @

gl 82

1. Resource teacher/ IITY HATUD

2. Residential School/ 3fTaTEt faeme™

3. Special day School/ fa=y Wy ufvquf Hemd
4. All of the above/ SWRIead T

Correct Answer :-

« All of the above/ IURlad g

33) Favorable conditions of creativity is:/ m%mwmiﬁﬁ%
1. Positive Social attitude/ $Td® TS fYfaar
2. Social facilitation/ STHETSTS JITHAT



3. Knowledge/ I
4. All of the above/ IWRIad gt

Correct Answer :-

« All of the above/ IWRIed I

34) Probation home are for?/ m&nqﬁm%ﬁlﬁ@m%?
1. HIV Effected child/ HIV I dlcih

2. Problem child/ SH™THSD dlcid

3. Delinquency/ d1df SURTY

4. Handicapped Children/ fa®ai s=d

Correct Answer :-

« Delinquency/ dIdl 3URTY

35) Unfavorable conditions of creativity is:/ m%ﬁﬁiﬁw?ﬂ[@ﬁﬁz
1. Suppression of Imagination Power/ &<l Yfad &1 AedIfed &A1

2. Over protection/ 3ffc TR&for

3. Lack of Interest/ & & &4t

4. All the above/ SWRIE GH

Correct Answer :-

« All the above/ IuRiad g+t

36) At which age control of emotions is done by child?/ STa® Ha W =0
frasgdAHRar s

1. 3 Years/ 3 9Td
2. 2 Years/ 2 9Td
3. 5 Years/ 5 91d

4. 6 Years/ 6 91d

Correct Answer :-

e 2 Years/ 2d9Id

37) Abortion is related to:/ THUd fpaA Jdfid 2:



1. Germinal period/ SiSTa=yT
2. Period of embryo/ fUUS 3rgw=y
3. Period of Zygote/ gadl HaxIT

4. Period of Fetus/ MR R &1 sra=n

Correct Answer :-

« Period of embryo/ fUus srgw

38) Among theses which are not child welfare programme?/ sqﬁﬁﬁ'—rmma
TV BRI T8l 32

1.1.C.D.S/ orms. 3t St ug
2. CARE/ W

3. UNICEF/ g%

4. Family planning Revolution/ S&AT 3+

Correct Answer :-

« Family planning Revolution/ SEEAT 3+

39) Defective Speech is related to?/ gryqul yTHT forad Wafia 82
1. Defect in word meaning/ &g & 3 § g

2. Defect in Pronunciation/ 3=dRU] ey

3. Defect in sentence structure/ CIERERERIR:EAL

4. All of the above/ SWRIad gt

Correct Answer :-

« All of the above/ SWRIad g

40) Ma-Ma-Cha-Cha sound is related to:/ HT 9T T 9T Q=T fpad Jdfid 2:
1. Babbling/ ST

2. Gesture/ gIdYId

3. Comprehension/ 3fi®a- Qfad

4. None of these/ Eﬁ@[aﬁéﬁ

Correct Answer :-

« Babbling/ Il



41) What is language?/ YTYT T 82
1. Parental Property/ a@ﬂmﬁ

2. Normal Behavior/ dTHI dgIR

3. Acquired Quality/ GiﬁT?UIUT

4. Special Quality/ fafme o7

Correct Answer :-

« Acquired Quality/ S{er?r‘IUT

42) Functions of central social welfare board is:/ $f<g THTS HATU SIS & HTA

B 82
1. Supplementary Nutrition Programme/ 3R UINUI HTdHH

2. Creches/ UTdH @R

3. Welfare extension project/ & cdIUl EESIEKISE]

4. All of the above/ SWRIad gt

Correct Answer :-

« All of the above/ SWRIad Tt

43) What is the special equipment for Teaching blind?/ e @t fRrem %‘g’ fay
SUDHIUT T 8?2

1. Brail Lipi/ & fadt

2. Speech Theraphy/ qroft fafea

3. Trained Teacher/ UfRIf&rd fRiered

4. None of these/ ij?ﬁr "9 IS ol

Correct Answer :-

« Brail Lipi/ s fordt

44) AIDS Virus have no life cycle?/ TSH SIaIV] $T $is Sita- a5p -Tg] gial?
1. Right/ ¥

2. Wrong/ 38

3. Partially true/ 3iifi® I



4. Partially false/ 3fifR/® 3 &d

Correct Answer :-

« Right/ ¥d

45) Placenta is related to:/ Jqul fra Hafia &-
1. Environment/ TYTgRur

2. Heredity/ d=IpH

3. Prenatal/ Ulf&lﬁ]ﬂ

4. Physical Development/ RN fawrg

Correct Answer :-

. Prenatal/ M I



